
Taylor 展開

関数 f(x) は以下のように整関数に展開できる。

f(x)− f(a) = [f(t)]xa

=
∫ x

a

f ′(t)dt

=
∫ x

a

1 · f ′(t)dt

=
∫ x

a

(t− x)′ · f ′(t)dt

= [(t− x)f ′(t)]xa −
∫ x

a

(t− x)f ′′(t)dt

= 0− (a− x)f ′(a)−
∫ a

x

(
(t− x)2

2

)′

f ′′(t)dt

= (x− a)f ′(a)−
[
(t− x)2

2
f ′′(t)

]x

a

+
∫ x

a

(t− x)2

2
f ′′′(t)dt

= (x− a)f ′(a) +
1
2
(x− a)2f ′′(a) +

∫ a

x

1
2

(
(t− x)3

3

)′
f (3)(t)dt

= (x− a)f ′(a) +
1
2
(x− a)2f ′′(a) +

[
1
2
· 1
3
(t− x)3f (3)(t)

]x

a

−
∫ x

a

1
2
· 1
3

(
(t− x)4

4

)′
f (4)(t)dt

= f ′(a)(x− a) +
1
2
f ′′(a)(x− a)2 +

1
2
· 1
3
f (3)(t)(x− a)3 + · · ·+ 1

n!
f (n)(x− a)n + · · ·

=
∞∑

n=1

f (n)(a)
n!

(x− a)n

したがって、これより

f(x) = f(a) +
∞∑

n=1

f (n)(a)
n!

(x− a)n

=
∞∑

n=0

f (n)(a)
n!

(x− a)n

となる。
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